o
[N

<0 > (rad)
o
o [
[ [¢)]

.........................

........................

o
T

1

2 3
TPlpoT (PCA t%obeamlinélf)

< dcotl>)
o
=
a1

......

......

o
T

0.95

107

—— DQM_V0001_R000000001__Global_CMSSW_mKIi5017_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mktt50i8_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mktt50i9_RECO

=
o
o

< 00, > (M)
[e)] [ee]
o o
I I

N
o
I

20F--{t

Ratio

[y
TTTT] T

0.95

1

<0 / > (Y
PP, > (Y0)
O = N W N O

1

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o

= 100

RatioI

0.95

1



	Contents
	Page 1


